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Our planning at Stathern is informed by the national curriculum, the DFE’s non-statutory Ready to Progress guidance and the NCETM’s prioritisation
and professional development materials. This policy has been written using these documents to exemplify each of the 4 strands of calculation and
summarise how this is to be taught through sentence stems, concrete, pictorial and abstract levels of understanding. Year groups have been added
alongside as a guide. Ongoing assessment of pupils understanding informs our teaching. The steps in learning, challenges and approaches should always
be adapted as necessary and based on pupils’ security of understanding and readiness to progress to the next stage. At all stages of their learning
children are encouraged to think deeply about the mathematical concepts introduced to them, apply these in a variety of ways and reflect on ways to be
efficient and flexible in their calculation choices.




Addition

__isthewhole, __isa part, __isa part.

‘ o e 3+42=5 2+3=5 2+3=5 3+2=5
_=_plus__and__plus__=__ '__'& 5=3+2 5=2+3 5=2+3 5=3+2
There are __in total. ' ' B
ar 5
model
Year 1 3 2
7=3+4
7=4+3
8=5+3
8=3+5
First... Then... Now... Role play getting ‘on the bus’ or use a toy First Then Now 4+3=7 First Then Now
e.g. First there were 4 children on the bus, bus. cleieicl Ncigisic ﬁ!’]ﬂﬁ 222“ Eﬁﬁn gﬁgn
then 3 children got on. Now there are 7 !...I !..‘I [;J‘JE.I - .I ~ .I " ’_I
children on the bus. First Then Now i' ii'
1 \ +3 4 +3 7
Year m 2+3=5 4+3=7
O O O I S M i3 as2=g
0-0-0
v

We can look for pairs of addends which sum
to 10.

___plus __isequal to 10, then 10 plus __is
equalto .

Year 2

Pictorial representations of the tens
frames OR

© 1 32 3 4 5 & T & & 1 T 12 13 14 15

3+5+7=3+7+5=10+5=15




First | partition the __: __ plus __is equal to

Then __ plus __isequal to ten ...
and ten plus __isequal to __.

Year 2

7+5=
7+3=10
10+2=12

]

| | | 1 | I/I—I\IQ 1
7 10 12
N4
+5
7+5=
7+3=10
10+2=12

7+3=10
10+2=12

I know that __ plus __isequal to__. (single-
digit fact)

So__ plus __isequalto __. (related two-
digit plus single digit fact)

| know that __plus __isequaltotenso __
plus __isequalto__.

Pictorial representations of the
equipment used OR

T 1 1 1
101112131415

3+6=9 17+3=20
+6= +6
Year 2 23+6=29 /_\.
28 + 3 16+4=20 | | | | I ) | | | | 1 | | | |
om EE 28 + 3 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35
oo O / \
oo 2 3+6=9
o +2 +1
I I | I | 1
17 18 19 20 21 22
+3
23+6=29
I knowthat __ plus__ isequalto . Pictorial representations of the
So __ tensplus__tensisequal to__ tens. equipment used OR @ @
+ —
__tensand __ones, plus __ tensis equal to @ @ @ @
tensand ones I TTrrrrTrrT T T T e e e e TrrrT T T
_ _ . a5 55 65 75 2+3=5
Year 4 . 3 = 7 45+30=75 2 tens + 3 tens = 5 tens
ear so 40 30 = 70 20+30=50
45 30 = 75




Firs.t | partitionthe __into__and __, and the H E‘ . D R [ Mlé 45  + 73
__into__and _. b H g /r \ }; \
__plus__isequalto __... (addition of the E |
tens) B 40 5 20 3
__plus_isequal to __... (addition of the 40+20=60
ones) _ h R 5+3=8
and __ plus __isequal to __. (addition of the =8H o o 60 +8 =68
tens and ones) HEH g s ooono oopon
So __ plus__isequalto . (summary of the HEH 34+25=
overall calculation) oad
Year 2 45 + =68
First | partition the __into__and __, and the | [HE|(CO oo P 7 2% + 37 or 2% + 37
— — HE | O oo —
__into__and __. al=fii= ' - al \«m / \ /\
_ plus__isequalto__... (addition of the =G a 2 56 60 63 20 6 30 7 30 7
tens) z AJ
__plus_isequal to__... (addition of the t4 43 20 + 30 = 50
ones) . s ; 26+30="56 64713 26+30=56
and __ plus__isequal to __. (addition of the B aon 3 = 56+7=63 50413 - 63 56+7=63
tens and ones) | oo -
| oo
So __ plus__isequalto__.(summary of the | % RML ﬁ.tOTlJ
overall calculation) -
26+37=50+13=63

Year 2

oooooono ooooo

=)=

37+25=62




I know that __ plus __isequal 7+5=12 Could include pictorial representations of 70"+ 50 =
to __. (single-digit addends) 7tens+5 | equipment or: RN AN
So __tensplus _.tens is equal ) tens = 12 /% 30 20
to __ tens. (multiple-of-ten tens — M N 100
addends) 70 +50 = 70 100 120
__plus__isequal to one 70+50 =70+30+20
h 120
undred and __. +50 B
OR place value counters 70 + 50 = =100+20
Year 3: Adding Multiples 70 +30=100 =120
of 10 using scaled facts 100 +20=120
I know that o Pl-us __isequal ) (7) 87 +30
to . (single-digit addends) N _,. / N\
So __ tensplus __ tensis equal 7 BIJ
to __ tens. (multiple-of-ten 0 10 20 3 40 50 60 70 8 9 100 110 120 .i'l'é
addends) 87+30=110+7=117 87+30=80+30+7
__plus _isequal to one OR place value counters =110+7 87+30 =80+7+30
hundred and __. =117 =110+7
=117
Year 3: Adding 2 digit
numbers mentally
First we add: __plus __is equal 35+ -
to_ . a]= 00 49 = 69 + 69 = |17 <«
— . o= od 2

... then we adjust: __ minus __ 5] 00 34+ 2
isequalto __. EH 50 = 1 70 4 70 = |140

84 : [
Year 3: Adding through T 552020 +299 = o
adjusting 520 + 300 = 820

820-1=2819




Year 3: Written methods: Adding 2
or 3 digit numbers through column

methods

We line up the ones; __ones plus __ ones.
We line up the tens: __tens plus __ tens.
The __isin the ones column — it represents
__ones. The __isin the ones column —it
represents __ ones.

__ones plus __onesis equal to __ ones.
The __isin the tens column — it represents
__tens. The __isin the tens column — it
represents __ tens.

__tensplus __tensisequalto__ tens.

In column addition we start at the right-hand
side.

Start with two-digit numbers to
exemplify lining up the columns.

s

mmeoe |
mom

Children could o
draw place value
counters.

10 10

*

10 | 10

e
g

Start with two-digit numbers to
exemplify lining up the columns.

4.3
+ 2 5

462
+205

If the column sum is equal to ten or more, we
must regroup.
ones is the same as ten

Year 3: As above with regrouping

Start with two-digit numbers to
exemplify the regrouping.

Step 1
E [ Step 2

nsnnnnee il nnn s ann ol

T

Step 4

T
O
o
COam
OO

[ERSSRRRRSs]

Children could draw place value
counters.

10 10

10 | 10

Start with two-digit numbers to
exemplify the regrouping.

25 25
+ 4 7 + 4 7
2 7 2
1 1
567
+233
800

11




If the column sum is equal to ten or more, we
must regroup.

Year 4, 5 and 6

See Year 3 examples

See Year 3 examples

As in Year 4 but using numbers with
more than 4 digits

6,5 8 4
+ 2,73 9
9,3 2 3
1T 1
£ 2 4 .5 5
+ £17 .82
£42 .37




Addition Grid Facts

Bridging through a multiple of 10, 100, etc

cEREEE

Years 3,4,5and 6

7+5=
7+3=10
10+2=12

Addition — Known Number Facts

Y| facts

e

7+5=
7+3=10
10+2=12

7+3=10
10+2=12




Compensating — rounding to the nearest

+ 300

multiple 10, 100, etc and adjusting oD og 69 + 69 = | -
oO oQ
: +H
Years 3,4,5and 6 om 2 70 + 70 = |140
T 520 + 299 =
35+49=34+50=84 520 + 300 =820
820-1=2819
Year 3 Working using Dienes or place value - (100 (100) (100
Derive quickly: Compliments to 100 counters, adding ones then tens. © 9@ 9@ 7
First we make 10 ones. The ones digits 60
add up to 1 ten, so we need 9 more tens.
_I 10
30

10




Subtraction

Stem sentences

Concrete (Can we make it?)

Pictorial (Can we draw it?)

Abstract (Can we write the equation?)

__isthewhole, __isapart, __isa part.
__=_minus__and _minus _=__

Year 1

| have 8 counters. 5 counters are red.
How many are blue?

There are 6 children. 2 have their coat
on. How many do not have their coat on?

LRI

There are 8 flowers. 2 are red and the
rest are yellow. How many are yellow?

(o) .
: ’I

8-2=6

First... Then... Now...

e.g. First there were 4 children in the car,
then 1 child got out. Now there are 3
children in the car.

Role play ‘getting out of a car’.

First Then Now

V4

' First ' Then ‘ Now
4 -1 3

Year1 O -d 0o s 10-6-4 i3
D _ D:D 0 1 2 3 4 5 6 7 8 9 10
We partition the __into __and __ PN First there were 12 children on the ride. Aﬁ\
First we subtract the __ from __to get to 10. gm 12-4= Then 4 got off. Now there are 8 children . . .
Then we subtract the remaining __ from 10. 12-2=10 | onthe ride. 8 9 10 " 12
We know 10 minus __isequalto __. \—*T*—/ 10-2=8 First Then Now 12-4=
12-2=10
Year 2 12 - /4\ 10-2=4
2 2
There are more __than _. ’aaaaa‘ 3 s red care ‘
There are fewer __than __. T T M s s M s e
The difference between __and __is __ 676 66 6" . . 3 blue cars ‘
o The difference between 4 and 7 is 3.
The difference between 2 and 5 is 3. The difference between 7 and 4 is 3. 2cars
Year 2 5-3=2

The difference between 5 and 2 is 3.

11




| know that __ minus __isequalto .
(single-digit fact)

So ___minus __isequalto __. (related two-
digit minus single digit fact)

| know that ten minus __isequalto __so__

minus __is equalto __.

10-3=7

saes

30-3=27

ssssseseseses
30-3=27

T T T T
012345678910

T T T T T T 1
2021222324 2526 27 28 29 30

47-3=44

Year 2
| know that __minus __isequalto __.
So __tensminus __ tensis equal to __tens. — mmml — @ @
— 45 55 65 75
Year2 75-30=45 @) @& & @®
70-30 =400 75— 30 = 45 5-3=2
5tens—3tens=2tens
50-30=20
First | subtract the tens, then | subtract the = = . 67-34=33 e 45-20-3=25-3
ones. g ré R _29
—_ —_— =
O N MJ- .S.bOI g
Year 2 e 45-23=45-20-3
=25-3
45-20=25
25-3=22
(alafaf-{-§-§-
First | subtract the tens, then | subtract the SEEA *| 08 63-17=46
ones. 1 SREEN 62 —34=28 63-10=53
|| 53-7=53-3-4=46
Year 2: Bridging ¢ Real &t
, ] ] g T I
| ]
! I oo

12




| know that __ minus __isequalto _ .

See Year 2 (bridging)

10 -20
(bridging ten) f\f\ =2‘D .. 30 = 9%
So ___tensminus __tensis equalto __ tens. o 910 1;,0 ' 1£0 ] " / \
(bridging ten tens) 20 10
One hundred and __minus __isequalto __. ~30 100
120-30= 120-30=
Year 3 120 -20 =100 120-20=100
100 - 10 =90 100-10 =90

| know that __ minus __isequalto . (BRRAE]
(bridging ten) . }26\_ 70 = %6
So __tensminus __ tensis equal to __tens. 6 120
(bridging ten tens) — 50
One hundred and __minus __isequalto __. 126-70 =120 -70+6

=50+6
Year 3 —56
We partition the __into __and __ 00 ” 544 -16 544 -16 =
First we subtractthe __ from __togettoa {—?,' 2 4 10 544 -10=534
multiple of 10. Then we subtract the m 534 —-4—2 =528
remaining __ from the multiple of 10. We 528 530 534 544
know 10 minus __isequalto__so__ minus
__isequalto __.
Year 3 Physically regrouping the one ten as ten

ones.
We partitionthe __into__and __. ‘BERE Py 2 As counting up
First we add the __to __ to get to 100. Then H_H} ” ]1 /\/—\q 97+3+20+3 =123
we add the remaining __ to 100. We know B B i 97 100 123
100 plus __isequal to __. - @—, 123 -97 =26
3
]

Year 3

13




Subtraction: Written Methods

Stem sentences

Concrete (Can we make it?)

Pictorial (Can we draw it?)

Abstract (Can we write the equation?)

We line up the ones; __ones plus __ ones.
We line up the tens: __tens plus __ tens.
The __isin the ones column — it represents
__ones.

__onesminus __onesis equal to__ ones.
The __isin the tens column — it represents
__ tens.

__tensminus __tensis equal to __ tens.

O
| T
oogoo

Children could draw place value
counters.

6 5
- 2 3

~

In column subtraction we start at the right- E 25
hand side.
Year 3: Column subtraction of 2 and
3 digit amounts
If there is an insufficient number to subtract n gE & Children could draw place value
from in a given column, we must exchange EEE—» B8 B counters. 1;\; 1145
from the column to the left. : o o ° ° ) —T
Year 3: Column Subtraction: l L
Including regrouping digits 00 00 °° °°
Egg = 00 00 00 00 ol
o
_ : 00 00 00 |
00 g: Ble
~7

—|r | w

14




If there is an insufficient number to subtract
from in a given column, we must exchange
from the column to the left.

Year 4, 5 and 6

See Year 3 examples

See Year 3 examples

s

15




Subtraction Known Number Facts

Y facts

R

Bridging through a multiple of 10, 100, etc -4 -10 -20
(T 12-a- AYEA 120 30 = 90
Years 3,4,5and 6 12-2=10 gwo .20} 10
> 10-2=8 — e
12 - 4 120-30= 120-30=
/\ 120-20 = 100 120-20 =100
2 2 100 - 10 =90 100 - 10 =90

16




Compensating — rounding to the nearest
multiple 10, 100, etc and adjusting

Years 3,4,5and 6

as

152-30=122
122+1=123

17




One group of two, two groups of two,
three groups of 2, ...

Ten, twenty, thirty, ...

One five, two fives, three fives, ...

Year 1

Multiplication

OO

QO

o E QO
two four six eight ten

T
01234567 891011121314751617181920

10, 20, 30, ...

There are __ coins.
Each coin has a value of __p.

HOOOG

Five 2p coins = 10p

Thisis __p.
Representing each group by one object
Year 1
There are equal groups 5+5+5
There are in each group . . .
Year 2
There are ___in each group. 2+2+2+2=8
There are __ groups.
Th i d . =
ereare __inagroupand __ groups - - 5 2x4=8
o @ é é o
5x3=15
Factor times factor is equal to the product.
The product is equal to factor times factor. @ @ @ 2x3=6
- ™ ™
Year2 ®@ ® o e O © O 6=2x3
Unitising equal groups — representing each [WY\
group by one object 0 5 10 15 20

18




_ times__canrepresent __inagroup

and __ groups @ ®® 2x5=5x2
- . Xx5=5x
It can also represent __ groups of __. @ ®® W
(X)) @ e S R R
Multiplication is commutative. (X)) L () (s) (5) (5)
(X o e
Year 2 CJIC
@ o 6 % Wb 1‘5 'ZYU
__isequalto __plus_,so__ times __is 5 =4+1
equalto__times __ plus __ times __. 3 ] 3 2 E ; 5x8 =4x8+1x8
=32+8
__isequalto__minus__,so__times__ | - - - - | =40
isequalto __ times__ minus __ times __. 9 8 16 24 Ex 40
Multiplication is distributive. j g = i_; 1x8
X =5x8-1x
=40-8
Year 3 =32
__isequalto__plus_,so__ times__is 13 13 3x13 =3x10+3x3
equalto __ times __ plus __times __. 10— = T—3 10— = T—3 =30+9
=39
__isequalto _minus__,so__ times __ 3 ::: 3 30 9
isequal to __times __ minus __times __. 000
Multiplication is distributive.
Year 3
To multiply a whole number by 10, the 1,000s | 100s 105 15 1,000s | 100s | 10s 1s 6x10=60
digits move one place to the left and add a ®
zero place holder. ® & ¥x10
. L R
ten times  tentimes  ten times
Year 3 . . the size the size the size
R 1,000s 1005 | 10 1s 12x10=120
ten tmes ten times ten times
the size the size the size 1 2 * %10
a0 (19) () (t0) (10) (10) (10) (10} (10) (10) (o) LA T .
LS S
._- .......... tlen bimes ter Limes ten tirmes
the size the size the size

19




All multiples of 100 have both a tens and
ones digit of 0.

When a number is multiplied by 100, the
product is a multiple of 100.

Year 3

00000

1,000s | 100s | 10s 1s 2 x100 =200
& 1 yx00 There are 100 times as many people as
6 0 e before.
- I
100 times
the size
1,000:  100s | 105 1s
> | yx00 15 x 100 = 1500
1 5 a a
L I

100 times 100 times
Lhae sine the ize

If one factor is made ten times the size, the
product will be ten times the size.

3 times 5 is equal to 15.” “3 times 5
tens is equal to 15 tens.” “15 tens is
equal to 150.”

Year 3

....——>

=]

@@ e
®@@e

= \'-‘-'

@

4x3=12s504x30=120

20




If there are ten or more ones, we must oplfoo oooon 84 X 6 = 504 84 x6 =80x6+4x6
; mfi={l= ooooo
regroup the ones into tens and ones. slsll= DDEEE / \ =480 +24
0E|E ooooo
If there are ten or. more tens, we must =l=ii= —» Socn 80 4 =504
regroup the tens into hundreds and tens. o
o - 80x 6 = 480
Multiplication is distributive. Informal HHE|[E"
multiplication of 2 or 3 digit amounts = H|[E ¢ 4x6 =24
HE|[ - 480+ 24 =504
Year 4 oo g
o@E|loo =
HHE|o
sfsll[=
uls S ¢
uffsll[=]= =
HH o
HH|lo
afslllE] |
HHl|lo O
sf=ll[=




Multiplication: Formal Written Methods

[

We work from the least significant digit, on o) (] 105 | 1s
the right, to the most significant digit, on sl m ”” 3 4
the left. =0 1
£ 000 0000 12
Multiplication is distributive. - 8 2% 4 ones — 8 ones
ml|o
0 34x2=60+8=68
Year 5 = 6|0 2 x 3 tens =6 tens
— D -1
] 6|8
2
0o 2 1
O
O 4
8 4
If there are ten or more ones, we must 05| (o] oo 10s]1s
) = Hl| @ -1
regroup the ones into tens and ones. HHllo ooo w m 2]4
If there are ten or more tens, we must u = —> S S 3
regroup the tens into hundreds and tens. - 0o w ”“ 112 3x40nes=120nes=1ten+2ones
R ?T 3x2tens=6tens
Multiplication is distributive. miu]l[= M ”” 12
=i=lI= ¢ i el
o 24x3=60+12=72
Year 5 a||e ¢
u O ¢
O O 1 8 3 8
minll= 5 X 4
o O
Al 9 0 1 5 2
- 4 3

22




If there are ten or more ones, we must ‘Golal . . . . . . 1005/ 10s| 1s
regroup the ones into tens and ones. 3/2 1
If there are ten or more tens, we must . . . . . . 3
regroup the tens into hundreds and tens. | 3 3x 1 ones=3ones
If there are ten or more hundreds, we o . . . . . . |80 3x2tens=6tens
must regroup the hundreds into thousands 9|00 3 x 3 hundreds = 9 hundreds
and hundred. # 9l6 3
M I . I. . . d. .b . 3 2 1
ultiplication is distributive. o . ;
. 9 6 3
Year 5 o
L U 0000® ® ...
321x3 =963 |
3
521 x3=1000+ 500 + 60 + 3 =1563
3
60
115 00
15 6 3
3.6 7
X 4
1T 4 6 8
2 2
If there is a multiplicative increase in one 6 ‘
factor and a multiplicative decrease in the 000000 e L, e . @ @ _ s
other, the product remains the same. 2 N YT N Y X =
Q00000 A .
If I multiply one factor by __, I must divide 3 \MWWM '
the other factor by __for the product to . . . @ % @ - 12 10 nines @ - 18
remain the same. X N

Year 5 and 6

halfl ldoub\e

000
B) x (&) = 12

23




If one factor is made one tenth of the size, +4 +4 +4 4 5
the product will be one tenth of the size. %
. (I)\\IAIIIEIB\\\1I2III1I6\\\2IO ] o 5

If one factor is made one hundredth of the
size, the product will be one hundredth of 104 104 104 22
the size.

... ...... B s s B 4 .5
I move the digits of the number I am 00 04 08 12 16 20 X
multiplying __ places to the left until | get a 4x3=12
whole number; then | multiply; then | 0.4x3=12 1. 8.2
move the digits of the product __ placesto | 0.04 x3=0.12
the right.
Year 5
Numbers that have more than two factors ] & [] Factors of 6 are ‘] 12 Factor bugs Factorsof 6 are 1, 2, 3 and 6.
are composite numbers. an N 1, 2,3 and 6.
Year 5 [ p) 6

IR

Numbers that have only two factors are
prime numbers.

Year 5

17 is a prime number because its only
factors are 1 and 17.

24




To multiply two two-digit numbers, first
multiply by the ones, then multiply by the
tens, then add them together.

To multiply a three-digit number by a two-
digit number, first multiply by the ones,
then multiply by the tens, then add them
together.

Year 6

28 rows

42x8

v

42 in each row

20 rows

8 rows

27x3
27 % 20

~N e s

- 4

Wl bk O|N
O v N

25




above.

Adjacent multiples of __ have a difference of

Year 3 onwards

Multiplication — Key mental strategies for Key Stage 2

Quick recall of times table facts upto 12 x 12 is practised daily through discrete activities.
Alongside this the maths lesson should be used to gain clear conceptual knowledge as detailed

In Year 3, children will practice their automatic recall of facts in the 2, 5, 10, 3 and 4 times
table. In Year 4 this will be extended to the 6, 7, 8, 9, 11 and 12 times table. Strategies to
quickly derive the 11 and 12 times table will also be explored.

Children are taught automatic recall of the times table facts through a variety of methods. This
includes ‘rolling numbers’ beginning with 2, 5 and 10 in Year 1 and 2
And 3, 4,5, 6,7, 8 and 9 from Year 3 onwards.

The national curriculum requires pupils to recall multiplication table facts up to 12x12,
and this is assessed in the multiplication tables check. For pupils who do not have
automatic recall of all of the facts by the time of the check, fluency in facts up to 9x9
should be prioritised in the remaining part of year 4. The facts to 9x9 are particularly
important for progression to year 5, because they are required for formal written
multiplication and division.

The 36 multiplication facts that are required for formal written multiplication are as
follows.

2x2
3x2 3x3
4x2 4x3 4x4
5x2 5x3 5x4 5x5
6x2 6x3 6x4 6x5 B6x6
7x2 7x3 7x4 7x5 7x6 Tx7
8x2 8x3 8x4 8x5 8x6 8x7 8x8
9x2 9x3 9x4 9x5 9x6 9x7 9x8 9x9

During application of formal written multiplication, pupils may also need to multiply a one-
digit number by 1. Multiplication of the numbers 1 to 9 by 1 are not listed here because
these calculations do not need to be recalled in the same way.

While pupils are learning the individual multiplication tables, they should also learn that:

« the factors can be written in either order and the product remains the same (for
example, we can write 3x4 =12 or 4x3 =12 to represent the third fact in the 4
multiplication table)

« the products within each multiplication table are multiples of the corresponding
number, and be able to recognise multiples (for example, pupils should recognise,
64 is a multiole of 8. but that 68 is not)

_a 4x6=4x5+4

&
A 4x9=4x10-4

26




Products in the 10 times table are double the .. .. “ 4 fives 5x4=10x2
products in the 5 times table. /—\/—\/—\/—\\‘
Products in the 5 times table are half of the “’* "* w* 1‘0 15 2
products in the 10 times table. . .. \_‘——’/\‘———’/
(NCETM Year 2 unit 2.5) 2tens
Year 2 onwards
Products in the 4 times table are double the ‘ ‘ Q O ’ . 6 twos 2%x6=4x3
products in the 2 times table. “ “ “ “ “ w
Products in the 2 times table are half of the W
products in the 4 times table. 0 ’ ’ m
2| 2 | 2] 2]2 \_J/\J/J
Year 3 onwards 4 4 4
3 fours
Products in the 8 times table are double the 4 4 4 4 4 4 6 fours 4x6=8x3
products in the 4 times table. +4  +4 +4 +4 +4 +4
Products in the 4 times table are half of the VOV OV VOV D
products in the 8 times table. 0 4 5 2 ]'ﬁ\zﬁj@
. > ’ \___4_,/"\‘_)/
Year 3 onwards +8 +8 +8
3 eights
1| 4 | 4 | 4
8 8 ]
Products in the 6 times table are double the . . ., . . . & threes 3x4=6x2

products in the 3 times table.
Products in the 3 times table are half of the
products in the 6 times table.

Year 3 onwards

0\—‘_ 35_._-._/}6\\—‘—': _._‘/}2

2 sixes

27




When both factors are odd, the product is
odd.

When one factor is odd and the other factor
is even, the product is even.

Year 4 onwards

[ odd e odd [ e

21

odd x odd = odd

odd x even = even
even x odd = even

even x even = even

3 x 7 =1 7 x 3 =
[ o ol ol sl ol odd |
4 x 7 = 28 7 x 4 = 28
e odld “wen oddd e e
Products in the 9 times table are triple the 2 % 3 3 38 3 é % 3 12 threes 3x12=9x4
products in the 3 times table. ! £ m 3 j ﬁ
RAE AER AR A
wauwwn wnaan anwn 0 3 6 9 1215 18 21 24 27 30 33 36
4 nines
9x4 1x4

Products in the 10 times table can be used to
find products in the 9 times table.

Year 3 onwards

i
L N N N N N N N N N
L N N N N N N N N N
o000 O0OCGPOGOOOO
LA X X N X N N N N

10x 4

9x4=10x4-1x4
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Products in the 10 times table can be used to
find products in the 11 times table and 12
times table.

Year 4 onwards

—

1
.-‘_ﬂ_‘_'- -
10 "1

w

12x3

=10x3+2x3
=30+6
=36
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Division

Stem sentences

Concrete (Can we make it?)

Pictorial (Can we draw it?)

Abstract (Can we write the equation?)

One group of two, two groups of two,
three groups of 2, ...

Ten, twenty, thirty, ...

One five, two fives, three fives, ...

Year 1

6 biscuits shared between 2 children gives
3 biscuits each.

The costs __ p.
Each coin has a value of __p.
So | need __ coins.

Eraser

Five 2p coins = 10p

Year 1 0 5 10 15 20
__isdivided into groups of __. _"\ 5 5 5 5+5+5=15
There are __ groups. i 15+5=3

We can skip count using the divisor to
find the quotient.

Year 2

___divided between __isequalto __
each.

We can skip count using the divisor to
find the quotient.

Year 2

' 0 0 e e
ﬂaccc
feeee
feceoeoe
heooo

One 5is 1 each. That’s 5.
Two 5s is 2 each. That’s 10.
10+5=2

30




Ten times __isequalto __so__ divided
into groups of tenis __.

Year 2

P00000O00OO
P00 0000000
XXX I xXxxxy

30 represents the total number of counters.
10 represents the number in each group.
3 represents the number of groups.

10x3=30
3x10=30
30+10=3

Answers can be derived by skip counting

twos are 14. 7 twos are 14.
times __ is 14, so 14 divided by
2is___.” “14 divided into groups of 2

I need 14 ping-pong balls. There are 2
ping-pong balls in a pack. How many
packs do | need?

14

14:2=7

: . 2122|122 |2]|2 . .
isequalto . Answers should be derived using known
multiplication facts
If the divisoris __, we can use the __
times table to find the quotient.
14+2=7
Year 3
___ twosare14.7 twos are 14. £14 is shared between 2 children. How 14 14+2=7
__times___is 14, so 14 divided by | much money does each child get?
2is___.” “£14 shared between 2 is 7 7
equal to £7 each. Answers should be derived using known
[. . . . . . .] multiplication facts
If the divisoris __, we can use the __
times table to find the quotient. [. . . . . . .,]
To divide a multiple of ten by 10, remove | (i) (i) (o) (o) 1,000s | 100s | 10s | 1s 90+10=9
the zero from the ones place. A tems < 104 ones V10 g 0
40+10=4 g i
Year 3 0000 w X0 m X10 o X170
@® (19) () (0) (10) Chesze thesme hesim
150 +10=15

©P000000
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To divide a multiple of 100 by 100,
remove two zeros (from the tens and
ones places).

Year 3

100 times
as many

x 100 =200 200+ 100 =

1,000s  100s 108 1s

4 =100 ’ 0 0
9 1}

e —_— l‘:‘-—-_ _._,--’J

100times 100 times
the size the size

900 +100=9

;...... 1500 + 100 = 15
000000
If the dividend is made ten times the size, | 8+4=2 - N o T .
the quotient will be ten times the size. W o0 _2> \2) \2) \3) e “
(EEERY « 10 = 10
Year 3 0
== ee v
W . . o 1 2 3 4 5 6 7 8 120 =+ 40
+4m N
a0 () (@ () (2
{gmnsy
'ﬁ (10) 0 10 20 30 40 50 60 70 80
oy
__isdivided into groups of __. There are (a) (4 4) 14=4x3+2
__groups and a remainder of __. 14+4=3r2

Year 4

8818866 o

N N N

T T T T T T
o1 2 3 4 5 6 7 8 9 1011121314
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__isamultiple of __so when it is divided 'i" i ® i i i‘ ® 3 fours . 17 +5=2r 7 isincorrect because 7 is
into groups of __, there is no remainder. B i greater than 5.
. . . . . . . :/1’ 2 3-\2/‘5'?7\‘3/;:“1'1\:\ 1314 15 16
The remainder is always less than the R 17+5=3r2
diVisor' . ’ . . . . +4 +4 AL +4 +4 '
Z ®e ® e e aVamVamNa—
0 1 2 34 5 a8 7 @8 % 10171213 'I-l'li
@ ® Q9 e e
Year 4 _
If dividing the tens gives a remainder of a " / o 8 tens + 4 = 2tens
one or more tens, we must exchange the 4 ones + 4 = 1 one
remaining tens for ones. ﬂ ,, / 2 84 - 4 = 21
A
Year 4 ‘ ” / 2
AdE i 200000000 -
3 ....... 21 ones + 3 = 7 ones
84+4=21 £ POVO000000 81 + 3 - 27
Division: Written Methods
Stem sentences Concrete (Can we make it?) Pictorial (Can we draw it?) Abstract (Can we write the equation?)
If dividing the tens gives a remainder of 10s 1s
one or more tens, we must exchange the 2 1

8tens+4=2tens

4) 8 4 4 ones+4=1one

remaining tens for ones.

Year 5

>a B Daps
AR
AR
NN

4) 8 4




T 3888

73+3=24r1

e gt

2 4r1

ﬂ7%

If dividing the hundreds gives a
remainder of one or more hundreds, we
must exchange the remaining hundreds
for tens.

Year 5

©eee® 06
@
®
®
®
®

®

Wi

1

EeEeEEEOEE®®
CeeEeREe®e|

21 2
4) 8 4 8

:

141

ﬂ?%s

1 5 3

46%%

34




612 +4=153

If there is a multiplicative change to the
dividend factor and a corresponding
change to the divisor, the quotient
remains the same.

If I multiply the dividend by __, I must

multiply the divisor by __ for the
quotient to remain the same.

Year 5 and 6
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If the dividend is made one tenth of the
size, the quotient will be one tenth of the
size.

If the dividend is made one hundredth of
the size, the quotient will be one
hundredth of the size.

I move the digits of the dividend __
places to the left until | get a whole
number; then | divide; then | move the
digits of the quotient __ places to the
right.

Year 5 onwards

| 2
28 3

© 01 0z D3 04 05 08 07 0B 0% 1 11 1F 13 14 15 18 17 18

zﬁ '323

0.85 =+ 5 = [0.17
x lool + 100
85 = 5 = 17

0 5 1 0 5.1
5) 2 25 5 *5)225.5

Any two-, three- or four-digit dividend
can be divided by a two-digit divisor
using skip-counting in multiples of the
divisor, or by short division or long
division.

Year 6

Partitioning Short division

31ﬁ4 43 124

4
4 (4 onesx31=124 ones)
0

Long division

(1ten=<31=31tens)
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Where there is a remainder, the result
can be expressed as a whole-number
quotient with a whole-number
remainder, a whole-number quotient
with a proper-fraction remainder, or as a
decimal-fraction quotient.

Year 6

354 +15=7
9
2 3 r9 2 3 = 2 3.6
15)3 5 4 1553 5 4 153 5 4.0
30 3 0 30

5 4 S 5 4

4 5 45 45
9 s 9 0
9 0
0

S0,354+15=23r9

So, 3542 15= 23%

So,354 +15=23.6
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